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5. 40| & =&

1. AEA| €20 8% - AMEA| RE|0E7HA dHESME[A 0] E
S A, 917 U IS data

I_
A B C D E F H I J K L M N O P
71 E R0FE L HE TE HA TR HH AT HH IE MHA MM A AT = QAL AT Y &8 JHY EXE HY &8 HY EE TUX0|E

2019 1A 224E 1000901 =EH 228205100004 LAISALE 4 5 0 0 0 0 1
2019 1D LA 1001111 HE ZECS100001 SHASAIF 41 48 2 1 2 1 7
2019 1u ST 1001496 Z'H O40]-CS100005 MlakE 11 20 0 0 5 1 9
2019 1A =24 1000921 AHE2642C5100010 HO-S2 3 3 0 0 0 0 0
2019 1D LA H 1001065 20FOMIECS100006 HAEZE 1 3 0 0 0 0 2
2019 1D arerard 1001087 Mg - CS100010 #O)-22 a8 60 7 4 7 4 22
2019 1A 243 1000897 =& 21235100010 #O-22 1 2 0 0 50 1 1
2019 1A 243 1000900 =HZ2262CS100010 AHLO-§2 16 19 5 1 5 1 3
2019 1D grhabal 1001098 ZATAZ CS100002 SASAIE 8 8 13 1 0 0 0
2019 1A 24 1000911 ZACHES CS100003 YA SAE 10 10 ] 0 0 0 0
2019 1D rerard 1001111 M2 2HE-CS100003 2ALSALE 12 16 0 0 19 3 4
2019 1U ZEST 1001496 Z' OHO[-CS100004 YA SAIE 31 36 0 0 0 0 5
2019 1D SFCRARA 1001099 ZATAZCS100010 HO-S8 1 18 6 1 0 0 7
2019 1A ZS4A 1000935 HIFH2HRE CS100003 LA SAE 14 14 0 0 0 0 0
2019 1D ZErA A 1001131 BEFE 2 CS100001 THAISAE 18 21 0 0 0 0 3
2019 1D grerard 1001087 M2 2ZHE-CS100002 SAISAIE 10 10 0 0 0 0 0
2019 1D AEAH 1001062 A& ZEHCS100010 AHOl-88 30 42 5 2 5 2 12
2019 1A 243 1000939 SHEZ77ZCS100010 AHIO-§2 3 3 33 1 33 1 0
2019 1D LA 1001077 159 1 CS100004 YA SAT 10 11 9 1 9 1 1
2019 1A Z5M4H 1000924 422121 C5100010 HL-S2 8 8 0 0 0 0 0
2019 1A =242 1000916 S2ALR6 CS100008 EAIHEE 3 3 33 1 0 0 0
2019 1A =543 1000911 EAC 28 CS100010 HE-8& 3 3 33 1 67 2 0
2019 1D e 1001140 A2 ZHe-CS100005 MHE 5 12 17 2 0 0 7
2019 1A Z243H 1000935 H3 228 CS100009 ZE-7H0|: 7 11 0 0 0 0 4
2019 1A Z243H 1000908 EACH23 CS100009 ZE-7H0): 4 4 0 0 0 0 0
2019 1D AERAFA 1001035 D9 CS100004 2HALSAIE 9 9 0 0 0 0 0
2019 1D AEAH 1001069 2O0LOHIECS100004 LAl SAIE ] 0 0 0 0 0 0
2019 1A =242 1000929 D*%X@z CS100007 Kl IHEE 1 2 0 0 0 0 1

2. A=A BB S EAH (ver20220309) json file

{'type' 'FeatureCollection',

'name'’ 'HangJeongDong ver20191001°',
'ers': {'type': 'name
'properties': {'name 'urn:ogc:def:crs:0GC:1.3:CRS84"'}},
'features': [{'type': 'Feature',

propertles : {'OBJECTID': 358,

'adm_nm': '2&IAMS',

'adm _ed': '1123051°',

'adm_cd2': '1168051000'},

'geometry': {'type': 'MultiPolygon',

'coordinates': [[[[127.02807815323149, 37.519584003369],
[127.02720592329885, 37.51926729481519],
[127.02526080146446, 37.518556420544876],
[127.02116872995951, 37.516819200932005],
[127.01944104956044, 37.515987241640666],
[127.01947830573368, 37.51634195419062],
[127.0190251971729, 37.51823713836514],
[127.01891540067083, 37.51857494289874],
[127.01828346580481, 37.52051905145248],

LTS

- o~




06. O|O|E{ X{ 2]

1) HE=E, 4=

B3 O|0|E] 7}3
- L3 e
22 O|0|E] 7}3 o
u“HE o =
=3
=315 0731487 -0.731487
oirbas 0487933 -0.487933
Abd2E 0372851 -0.372851
=325 0202691 -0.202691
Hg Hols NES x2S  0.148884 -0.148884
# H&gf Hoh= 0034301 -0.034301
= m = storel9.mean(axis = 0)
5 = storeld.std{axis = 0) Siels o LIdil LA
A3 2019 4.028546 95971454 store19 = (storel9 - m) / s BA1S -0090058 0090058
=215 2019 4554852 95445148 > m = store?d mean(axis = 0) UAHEE -0125243 0.125243
s = store2d. std{axis = 0)
AM25 2019 3.418929 96.581071 Store2d = (store2d — m) / s HNE 0125599 0128599
R [HXl4S -0213128 0.213128
chd25 2019 4190119 95.809881 m = store?! .mean(axis = 0) CrE 045503 045503
= s = store2! . std{axis = 0) e '
=25 2019 4351280 95648710 store?! = (store2l —m) / s 325 0642063 0.648063
= C|O|E{ 0| A HX}7F X @iof, BEEE #EZ} LA
et Bt
7| H|O|E{0j|A] ®X}7} AKX| @0, HrH=E HFot Xl



06. H|O|E{ X 2|

1) HYs, =5 &3 CI0JE Al4=}

-1.4 -0.6 0.2 0.9 1.7 25 3.3 -1.3 -0.4 0.4 2 21 2.9 3.7 -1.2 -0.4 0.4 1.2 21 2.9 3.7

A : - 2
T . O 1 | ] 111 1 |
population(people) population(people) population(people)

B %

+ME, 4 15)0M HAE0| Holx|= HE.

Leaflet | © OpenStreetMap contributors © CartoDB, CartoDB attributions Leaflet | © OpenStreetMap contributors © CartoDB, CartoDB attributions Leaflet | © OpenStreetMap contributors © CartoDB, CartoDB attributions



6. O|O|E{ X2

for(i in 7:26 ){
mydata3[,i] <- ifelse({is.na(mydata3[,i]},0,mydata3[,i])
mydatal <- read.csv("/Users/chan/Desktop/Dataproject/data/d#/HUAS . csv",fileEncoding = 'euc=kr') } . = o g = Hje

table(is.na({mydatal))

dim(mydata3)

i
##  FALSE
## [1] 38774 26 ## 1008124
str(mydata3) str{mydatai)
## 'data.frame’: 38774 obs. of 26 variables: ## 'data.frame': 38774 chs. of 26 variables:
## 5 7| A _3E ¢ int 2021 2021 2021 2021 2021 2021 2021 2021 2021 2021 ... ## § 7IF @ _3E : int 2021 2021 2021 2021 2021 2021 2021 2021 2021 2021
## S 7 #7 3= :int 3333333333 ... ## s JIE _®7| _3E s ipt 333 3333333
#t § JE_TE 2 ¢ ochr AT AT AT AT ... ## 5 o fE IS : chr "A" "A" "A" "A"
#F § df FE FE Y: chr "SR "SSH@" "SIYHE" "SIHAT ... oS Qﬂ_‘r‘:;':?":_%f: chr "ZEAMY "TEA CDRAR cTRA
# 5 43 Fc : int 1000289 1000835 1000839 1000583 1000110 1000111 1000116 1000234 1000245 1000455 ... —— S @4._4:9: . int 1000289 1000835 1000839 1000583 1000110 1000111 1000116 1000234 1000245 1000455
# $ 4E I W : chr "QIER1TARE" "HEUZ" "EYRE "HESHE11Z" ... ## 5 HE = 9 + chr "QIEZ177HE" "FEIZE" "SYZ4D" "HRcRE11Z"
## 5 BUME T : int 612 257 16 11 9 7 13 11 ... ## 5 HUME £ : int 6 12 25 7 16 11 9 7 13 11
#F 5 HEM :int NANA 1 1 NANANAL L1NA ... ## 5 BHEM £ snum 0011000110
## 5 &8 : int NA NA 1 NA 2 MA NA MA NA NA ... #H s 2E $ num 0010200000
#§ SEHHA 4 : int MA NA NA NA NA NA MA MA 1 NA ... # s SEHA 4 snum 0000000010
#F 5 bk HA : int NA NA MA NA NA NA NA MA NA NA ... #HES Uy HE £ :num 0000000000 ...
#5422 :int 12711 1HNANAGS 2 ... s YD £ num 127111006582 ...
## 5 FEHE £ : int NA 1 NA NA NA NA NA MA NA WA ... fF 5 RER snum 0 100000000
## 5 FSHI & : int MA NA NA NA 1 NA NA NA HA NA ... ## 5 ES8D £ snum 0000100000
## 5 B8 2 : int NA NA NA MA NA NA NA NA MA NA ... ## s Z80 % tnum 00D O0OO0DO0O0D0O0OD0D
## § DSEE % : int MNA NA NA NA NA NA NA NA NA NA ... ## 5 IEHD £ snum 0000000000
#F 5 &+ : int NA NA NA NA NA MA MA MA MR NA ... #HO$ UEa $ tnum 00000000 OO0
S WY 4 : int NA NA NA NA MA NA NA NA HA NA ... ## s WEE & « num 0 0 0
## 5 fEoEl £ : int MA NA NA NA NA NA NA NA NA NA ... #0§ #EHOE £ snum 00 0000O0O0OGDQ
A : int NA NA NA NA NA NA NA NA NA NA ... ## 5 28 = num 00000000000
# 5 s AE : int NA 2 MA NA NA WA MA MA MA NA ... fF 5 = oAE tnum 0200000000
#o$ 3 T : logi NA NA NA NA MA NA ... s 3Y num 0 0 00O00O0O0O0OQO
## 5 B 9 =+ : int NA NA NA NA MA NA NA NA NA NA ... ## s HEr 9 £ tnum 0 000000000
## 5 B EOE 4 : int NA NA NA NA MA NA NA NA NA NA ... # 5 B2 Eod 4 num 000000000 OD
#05 NatE o % : int MA NA NA NA 1 NA NA NA NA NA ... ##05 FatE o % :num 0000100000
## S HA HAR £+ :int 223137221 0HA... ## 5 BA HHE 4 snum 2231372210




06. Cl|O|E] X2

g L TEH0 HYA0  £ESENEHEUSUMNEMECSSE MEHESY SHBTAE FEAE df_?“E 45—
2019 74225 H H 108666667 538333333 108.5 53.25 F4 HESY ## g AA
2020 225 H H 112916667 553333333 12 54 4 HE5Y df.drop(columns=["&Zx0[", "HEZ0["])
2021 H225 H H 116916667 56.1666667 1165 5475 &H HESY df=df .drop(columns=[ "H#HE"]) 1
2019 4245 H L 116964286 497857143 1085 5325 AAZ4  (yzY #f 2F| FHAE) o= 2019 2020 2021
2020 245 H L 120464286 50.2142857 12 54 4AZ2  HdsY df1=df . round(?
2021 245 H L 127071429 5125 1165 5475 43A%2  fgsd 44 olElA H] (<) 2HYYME 11696 12046 127.07
2019 H1E L L 10075 492142857 1085 5325 CO|4m  dojuzd dfll_-:;]f_l + index("tAS" —
2020 £HIE L L 105.607143 49.8571429 112 54 CHO|LE 2oLz P :_,EEE ~index("S=") HYYHME 4979 5021 51.25
2021 £H15 L L 110910714 50.5714286 1165 475 COIUY Aozl — i SE DT 1
019 825 L L 934821429 492678571 1085 5325 Crojute]  elye|amal. df HE2E = dfl.iloc[:3,:] Meeduei® 1085 1120 1165
2000 =25 L L 96.3928571 495357143 12 54 CHO|LIE  Qimye|Ymal. #oua
2021 828 L L 99.1785714 50375 1165 54.75 CHOlLtY Q2| YT df HHE = dfl.iloc[51:54,:]
2019 iA1E L L 96.2962963 49.537037 108.703704 53.2962963 CrO[Lt®  CHRrhstaat Fs o =iy MENUITNE 5325 340 3475
2020 GhAIE L L 101.944444 50,0925926 112296296 54 CHO|UY  CHECfgan df E2E = df 7|E2E.transpose()
2021 A1E L L 108.203704 50.962963 116.703704 54.8148148 CrO|LIY]  ChRCfEtmat #. . . B dAUUMNE LKL YEFL: YRS
2019 A28 L L 944259259 48.6296296 108611111 53.2777778 CHoO|L}®]  &0ig SChE e ) . )
2020 GRS L L 990825826 49.2592593 112.166667 54 Crojue  soigd df_¥8E = df FHS.transpose() FaAMd HE=E HE=% ddE=%




06. G| O|E{ X2

3) AATH HO|E AL} - APUE

aal plotly=['04A" '] figsize=(15.8) kind="bar") aal["SH2 7] sort values() .plot{kind="bar", figsize=(12,7))
plt.ylabel ("= /A" plt.ylabel (' EFH2T)

o408 B %o s ® 5 ¥ o§ & 5 fF i o 3 o§ oz § &3 Wo# Wow W e ow WoWw MW W o o W o W Mo koW
T & ¥ §  oa = . = F @ = a & E IR E 3 grlj i E ow oh o@m o o@ om g TN i i S
= 53 1 TR B TR - T - T T A U - . N
7L} XIXFO| = alH 0 I o:lk'l I. LI Ad I ZHL} e -IO = al>y o I IOI =] X=]
on:l'" Aol s 5250 St 5380 o O T/ |_|:I'I'3 52350 x'IEL'c'n:u
ol = © XIXFO|] O CCS alH e I |0| =] X=1
x'“E I O —|0|_| |_I?' —l—°|_|' E—|2c>0 x'IE LS O




06. H|O|E{ X2

4) A O o|E] AlZtE} - AL

175000 -
150000 1
125000 1

aal.set_index("&",inplace=True) ¥, 100000 1
aal["ZA"].sort_values().plot(kind="bar", figsize=(12,7))

50000 1

25000

Ho U 1o Wo W0 uo Ho 1o o uo Ho  Ho WD Ho Wo o Wo  wo Ho o o o
a1 Rr o ) = - o ¥ m 1 o T = O Sl by 1| TR ™ -
gl W o= = Bz BoH £ R (£ S | A= TR O o
oll Fa oll H 4 = ol LH =0 o o o o [ il <0 Il g




06. G|O|E| X 2]

5) & HojE] HXZ] A 7ts - FE0E

mydata = pd.read csv("/Users/chan/Desktop/Hl0|E{Z24 /FHSEE]. cav")

mydata

d s 9E 202191 20fE=Y 20219 E0fgEs S Y 3Y FINRYEUZ FE: XY HOESY
0 2021 ZEY E4EUEE  2.810000e+11 19321963  8577597.0 80727057 6502  4.316185e+07
1 2021 &EHT  HNEEE  2.770000e+11 6476307 17818458.7 80431372 4508 6.014403e+07
2 2021 #EHF  LASHE  2.840000e+11 7072943 19803042.7 83419394 3406 8.33857Te+07
3 221 EEA HZF  1.200000e+11 11181567  B8355526.8 76.087872 1680  7.171699e+07
4 2021 HEF S4S4E 1.780000e+11 5194081 11450621.8 79489139 1727 1.030312e+08
5 2021 HEHT  ARIFEE 4.813047e+10 1645323  8957467.5 78011391 1255 3.835097e+07
6 2021 &HET AL-SE  4.380000e+11 54336480 3964065.3 19.759047 9143 4,788285e+07
7 2021 dH? WAEREH  7.256058e+10 6135494 6618989.8 75.289661 1693  4.285017e+07
8 2021 ZHT FASHE  1.3900008+12 42389548 17564633.3 80.476969 18308 1.572943e+07
9 2021 HE? =ZE-{HOFEE  1.950000e+11 4245294  21029687.0 82.052850 3019 6.463549e+07
10 2021 7H¥285  ®#4EEE  9.048454e+09 041834 1392413 71250000 75  1.206461e+08



06. GO X2
5) AMHEE ClO[E| - TS
plt.title( ' d=5+ 21¢ EHI D=’ , fontsize=15)

plt.barh{mydata.iloc[0:9,2], mydata.iloc[0:9,8])
plt.title('7HiE2= 218 EHA D=, fontsize=15)

plt.barh{mydata.iloc[10:19,2], mydata.iloc[10:19,81])

plt.title('7iE4=E 218 EHE ODi=",fontsize=15)

plt.barh{mydata.iloc[20:29,2], mydata.iloc[20:29,8])

plt.title( 'CiX|laE 219 EHY Di=" ,fontsize=15)

plt.barh{mydata.iloc[70:79,2], mydata.iloc[T70:279,8])

#l’l‘ =
plt.title( '&E®=E 21¥ EHIF DH=', fontsize=15)

plt.barh{mydata.iloc[179:188,2], mydata.iloc[179:188,8])

de- 214 Hd o=

B EAE BEASAE
:EFEH TrEECH
HE-28 E-22

HPIHEH
TusNE

H|mHE
I
PUBEH
BuNEH

HYHEE
==

Ak
PINE=RES
YU HEE
EYHEE

0.8 1.0
=8

2.5

3.0
el

He s 219 8 o=

B2 YE
H~-EFCH
E-28
HAMEH
NS YE
ATHE
YNEYE
YYHEE
RAMEHE

) ) ) ) 1 ) ) )
0.00 0.25 .50 0.75 1.00 1.25 1.50 1.75
el

18 B+ ozt

o ¥SE " MiES

A
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06. G| O|E{ X2

5) AMAR GIO|E| A|ZtS

# ZH & HE2E
bar width = 0.35

alpha = 0.5

index = np.arange(len({mydata.iloc[10:19,2]))

label = mydata.iloc[10:19,2]

pl plt.barh(index, mydata.iloe[l10:19,8],
bar width,
color='hb",

alpha=alpha,

label="7HZ2E")

p2 plt.barh|{ index+bar width, mydata.iloc[0:9,8],
bar width,
color='r"',

alpha=alpha,

label="Z'H7")

plt.title('dH+ & FH{ZE2E 21 HYROE', fontsize=20)
plt.yticks(index, label, fontsize=15)
plt.legend((pl[0], p2[0]), ('7HE2T', '@E+'), fontsize=15)

plt.show()

S

=
IR

et =AE
AEF=H
HAu-22
xZIHEH
=4 =44
P8 LS|
A=A E
A HEH

SAHEH

A S A E
ojAEF=H
HAu-=2
FIHEH
I8 FUFS
=4=4E
UL SAE
S HEA

SAHEH

g7 & 942 219 WAols
. eA2E
A

3.0
=8

N B2 s
o AF W
&2 b1 o= 1=



X.U.FEFF.district close survive X.U.FEFF.district division pop female male X10to20 X30to40 X30tob0
1 === 0.731486586 -0.731486590 1 =@1=s FoELS 176016 90620 85396 32085 79081 43950
2 TulE 0.487932585 -0.487932583 2 IHiE SHEDS 235148 121423 113725 77380 96706 61082
3 od2E 0372851134 -0.372851137 3 wElE SHEDS 132254 766985 75556 45339 65910 40985
4 =TIE 0.202691018 -0.202691021 4 ==IF SHEDS 134175 77155 77020 43970 70733 39472
5 H#2= 0.148883688 -0.148383689 5 LFzE SHEDS 115805 39371 56434 41936 40495 33374
6 TEE 0.034300978  -0.034300980 6 EE= SHENS 83235 44051 38274 23593 34689 24953
7 3Su1s -0.008101295  0.008101295 7T IH1s SHEDS 218960 113938 105031 69731 100172 49066
8 H#1= -0.090057737  0.090057739 8 O#1= SHEDS 163061 86262 76799 72091 47778 42591
9 ¥LEES -0.125242500 0125242563 9 ¥LEES SHEDS 78344 42872 35472 24739 29773 23830
10 +ME -0.,125599187  0.125599191 10 ME SHEDS 89382 48781 40601 20099 35321 24952
11 Hx4= -0.213128148  0.213128150 11 H#4E SHEDS 235019 131654 123365 99e18 03158 62243
12 ==1= -0.455035310  0.45509353N1 12 =31= SHEDS 127084 68158 38920 39096 44530 43358
13 E=2= -0.648062840  0.648062838 13| =525 SHEIS 140252 78675 61577 46258 47478 46316
14 #21= -0.652241569  0.652241570 14 22815 FoELS 85746 42435 43317 23793 39682 22271
15 =MZ -0.703647458  0.703647461 15 M= TYEIS 42357 21556 20801 10124 14316 17917
16 7{=4F -0.916130294  0.916130294 <pop>

<close>



=
1%
M
=
- —t=
X
ro
-
=
H
A
0
ro
-
=
|.|-|
i
2l
Hi
1%

“  X.U.FEFF.district pop close
1 ==1= 185 0.731480580
2| Ga2E 323 DABTO325E5
3 og2E 243 | 0372851134
4 ="™HIF 140 | 0202691018
5 Oxz2s 189 0.148883688
#closel| AZE1E > /E15 22 HE 6| HIE 125 0.034300973
close[19,"X.U.FEFF.district"] = "/HE1S
7 Sa=E 133 -0.008101295
close[19,"X.U.FEFF.district"]
g LaA=E 37 -0.090037737
M =HoIFo U= =ol2
#poplilM F=Ael7o] 2E£ 08 S 9 YIS 109 -0.125242566
pop_people = pop[pop[“division”] == "EFH2+",]
10 LAME 99 -0.125599187
pop_people <- pop_people[,c("X.U.FEFF.district”, "pop")] #S 2 #H= 11 CHEa= 387 | -0.213128148
close_survive <- close[, c("X.U.FEFF.district”,"close")] #E S8 1743 ' '
pop_people 12 =31E 213 -0.455935310
close_survive 13 £ 334 -0.648062840
# 0] S7HE otLt2] HOlEE 2 X3 14 415 76 -0.652241560
library(dplyr)
| = n7
pop_close <- left_join{pop_people, close survive, id = "X.U.FEFF.district") 15 FMS 96 | -0.703647458
-| | | =0 go|E Tt - e v o 7 Pt 16 7/i=d= 116 -0.216130294
#HE1=E2 EEQ| E GO 7 2CE S E LIEIL Y| M2 /H=Z152 = H~ o
- B e - -0 = 17 THE2E 91 -1,047995032
pop_close = pop close[-19, ]
View(pop close) 18 1= 172 -1.187604332
ClojE MM ZId <pop_close>

Zte HiAMl O 2 XIXtO| Al e M A 3| XIS




06. GO =4

1) HYE L FAUTLE, HIATUE A £A

e e I o o

$EREENE =2 .
shapiro.test(pop_close$pop) #p-value : 8.82172 g — o
shapiro.test(pop closebclose) #p-value : 8.5233 o

#= O BAE=

gof ZHEHA =l
cor(pop closefpop, pop closefclose, method = "pearson") # ©.20858739
B S Ei

i e £

s | D e :
library(UsingR) o o
plot{pop_closefpop, pop closefclose)

out = 1lm(pop_close$close ~ pcp_clase%pnp, data = pop_close)
abliﬂe{nut , ol = "red")

FHHEHEHEHAAAARRRERERERRRERE

=7ol7al ¢ o} TS 70| AFRRAH| 7} 0.208 00 150 200 250 300

-1.0
o

o

-+
X
roe
1
ng
H

stamaanan o 2N 2R F S sunaanan @ o
A EE0NR =2 o
shapiro.test(pop_closef%pop) # p-value = B.165

shapiro.test(pop_close%close) #p-value : 8.5233
#= O EHEZ

o _
S G

gt A =el

H
cor{pop_close%pop, pop_closefclose, method = “"pearson™) # @.2292248 (£
HEHER R R R R =
X xbol el of m| & 7to| AratEA| 7} 0.229 | 0 °

-1.0

0 200 400 600




06. §|O|E| &Ad
2) §EE 9 QUL = 2HA4 =AM
- QIRUE QL ZHe A

.l

#popOl F7lelReol Y=g molg
pop_people = pop|[pop[“division

pop _people <- pop_people[,
close_survive <- close[,
pop_ people

close survive

£ 0| SHHE stLtel
library(dplyr)
pop_close <- left_join{pop_people,

HOIEE €HE

pop_close = pop close[-19, ]
View(pop close)

#closel| A E1E > /HE1E EE HE
close[19,"X.U.FEFF.district"] = "/HE1E"
close[19,"X.U.FEFF.district"]

LT} I s - o
] - "3

c("X.U.FEFF.district",
c("X.U.FEFF.district™,”

close survive,

#hZ159 E20| Mol Ho|EI Spso=

A

I 1 |=! L_
::_ e _-J'\-\_
#_I__I_ :l:i

rent_close$close

= "X.U.FEFF.distri

20| HE152

HlO[E] F X2 TIA
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fig, axes = plt.subplots(1,3, figsize = (B0,10))

sns.barplot(x="9=E" vy = "AZSHEAIlE", data = income[ income["="] == "HASZ"], ax = axes[0])
sns.barplot (x="=" v = "HZCHEEZ20H=Z" | data = incomel[income["="] == "JHEZ"], ax = axes[1])
sns.barplot(x="S=" v = "BZSHEHAIIE", data = income[ income["="] == "JHELZ"], ax = axes[2])
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# SET AP ofFEH BEONLY dataframe S GFE T

up_store = pd.DataFrame(columns=income. columns)

down_store = pd.DataFrame(columns=income. columns)

for dong in income[["="]].drop_duplicates("=", keep="first")["="]:

up = incomel income["="] == dong].sort_values("&E EZSHEHAINE", ascending=False)[0:2] #&'5 2IiEof i€
down = income[ income["="] == dong].sort_values("&E ZSHEAINE", ascending=False)[-2: ]| #5/5 22 E S OiZ

up_store = pd.concat {[up, up store])
down_store = pd.concat {([down, down_store])

= T C} I 2= o| =Lo
S8 U5 HxT Ha 5= &9, ot 27000 =24 &
{'"EZ [ NEEESE, 2AFEE"]
UFEIE [HRE S, TgAESAE ],
‘Halks ['EANEE, CAEEE],
dict = {} G ['EAEEE, WAERSH],
for | in down_store["="] . drop_duplicates(): drdst [AREEE, WAEZEF],
list = [] AMAFED [ARIEEE, CHIZE],
for ¢ in down_store[down_store["S"] == str{i)]["Z="]: ::’,:,Hg': ['Ei‘ﬁif—g':_'ﬁm@'k |
list . append(s) ddes" AR, WAEFEH],
dict[i] = list ‘s [AHI-S=m, AZEEE]
dict ‘=zt [AIREEE, MEESH],
'T2E ['AHI-ER, WAEZEEFE],
'CHAAS " ['IHAEREE, 2REEE"],
X3 dataframedl M, XIE0| MEHE HZS o) 5 - S YEIS dictAtEYOE M ez [‘Sans, ledmed |,
‘A= ["E=-2H0F=8", 'ARIEEE"],
'=ReE ['RAEEE, IHAEREEE],
'=eE ['EAfEEE, CAEEE],
OiEAE" ['EAEEE, RAIRIEEE],
RS ['AIRIEEE, HAEREEE],
2t [IHAEESH, RIZIEEE )
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m = folium.Map(location=[37.498095, 127.057610], zoom_start=12,
tiles='cartodbpositron')

choropleth =folium.GeoJson(data= geo path, style function=style function,

m.add_child(choropleth)

for i in range(len(geo_str[ 'features'])):
geometry = geo_str['features'][i][ 'geometry’]
dong_name = geo_str['features'][i][ 'properties’']['adm nm']
get _info(dong name) #4535 0f
popup = folium.Popup( '<div style="overflow: scroll; width: 100%; height: 500px; padding: 10px;">'+
'<h3>'+dong name+'</h3><br>'+
'<h4>s&bull; '+dong_name+'2| FH &% IE UE 1&%= <u>'+str(high[dong_name][0])+'</u>, 2&%= <u
'<h4>&bull; '+dong_name+'2| H|FH 52| 0iE ¥Z 1&2E= <u>'+str(low[dong_name][0])+',</u> 2&2E <u
'<br><CENTER><img src="fiqures/pop_'+dong_name+'.png", width=300><CENTER><br>'+
'<CENTER><img src="figures/df '+dong name+'.png", width=300><CENTER><br>'+
'<img src="figures/'+dong_name+'.png", width=400>'+
'<div>"',width=500, height=2000)
tooltip = folium.Tooltip(dong_nahe)
state marker = folium.GeoJson(data=geo str['features'][i][ 'geometry'],
style function=lambda x:stirlal.
highlight function * highlight style]
state marker.add_child(popup)
state marker.add child(tooltip)
m.add child(state marker)

] : "

def highlight style(feature):
style function for when choropleth button
is highighted
return {'fillOpacity': 1,
'weight': 1,
'fillColor': '#000000',
‘color': '#000000'}

def

style function(feature):

dong = featurel'nroperties']['adm nm']
style = State style(dong,year=2019, function=True)

return style

def state style(dong, year,function=False):

state_results = seoulin

yr = str(year)

#Set state colour

if state_results[yr][dong] >= 0:

color = '#2aae2a' #green
else:
color = '#££f4040' #red

#Set state style
if function == False:
# Format for style dictionary
state_style = {
'opacity': 0.5,
'color': color,
}
else:
# Format for style function
state_style = {
'fillOpacity': 0.5,
'weight': 0.5,
'fillColor': color,
'color': '#000000'}

return state_style
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SN e S,

HA A A I/E # I/EO# JE#E ?7/
m = folium.Map(location=[37.498095, 127.057610], zoom start=12, def get_info(dong_name):
tiles='cartodbpositron')
choropleth =folium.GeoJson(data= geo_path, style function=style_ function, ) fig = plt.figure(figsize=(10,6))
m.add_child(choropleth)
L a = mydata[mydata[ '&']==dong name]['¥E']
for i in range(len(geo_str[ 'features'])): a = a.to list()
geometry = geo_str['features'][i][ 'geometry'] . -
dongenamemageo str['features'][1][ 'properties’']['adm nm'] if a = []:
get_info(dong_namh) #i25HH0t - plt.title(dong namet+' #H|E 2LICH', fontsize=15) )
popup===faliwi. Popup( '<div style="overflow: scroll; width: 100%; height: 500px; padding: 10px;">'+ plt.barh(mydata[mydata['S']=='"]['%3'], mydata[mydata['&']==""]["HEY GZIOIZ2%"1)
'<h3>'+dong_name+'</h3><br>'+ html = mpld3.fig to html(fig)
'<h4>s&bull; '+dong_name+'2| FH | 01E YF 129l= <u>'+str(high[dong_name][0])+'</u>, 2=%|E <u iframe = folium.IFrame(html=html,width = 600, height = 300)
'<h4>g&bull; '+dong name+'2| H|FH 312 IIE YE 1%l <u>'+str(low[dong name][0])+',</u> 2&%f= <u plt.savefig('figures/'+dong name+'.png')
'<br><CENTER><img src="figures/pop_'+dong name+'.png", width=300><CENTER><br>'+ -
'<CENTER><img src="figures/df_ '+dong_name+'.png", width=300><CENTER><br>'+ . I
'<img src="figures/'+dong name+'.png", width=400>"'+ e [?'
'<div>',width=500, height=2000) bar_width = 0.35
tooltip = folium.Tooltip(dong_najme) alpha = 0.5
state_marker = folium.GeoJson(data=geo_str[ 'features'][i][ 'geometry'], index = np.arange(len(mydata[mydata['S']=="ZY7']))
style function=lambda x:stylel, label = mydata[mydata['S']==dong_name]['%Z'
highlight function = highlight_style) pl = plt.barh(index, mydata[mydata['&']==dong name]['HZE HZHIEZ"],
state_marker.add _child(popup) bar width,
state_marker.add_child(tooltip) c016r= 'p’,
m.add_child(state_marker)
- - alpha=alpha,
- label=dong_name)
T " p2 = plt.barh(indextbar width, mydata[mydata[ 'S']=='ZE7"][ HEZY H0HE3%"],
bar_width,
color='r',

alpha=alpha,
label='dH7")
2 74 = 214 HAol= plt.title('ZHT &'+dong namet+' 213 HPUSE', fontsize=20)

plt.yticks(index, label, fontsize=15)
=_710|=H . iEas plt.legend((pl[0], p2[0]), (dong name, 'ZEH7'), fontsize=15)
2kt

FHAIZ ALE #plt.title(dong name+' 218 Zr OfF', fontsize=15)
HrEZem #plt.barh(mydata[mydata[ 'S ' ]==dong name]['2Z'], mydata[mydata['s']==dong name][ 'EEE HZIEFY"])
T html = mpld3.fig to html(fig)

HAu-2=2 iframe = folium.IFrame(html=html,width = 600, height = 300)
HFIH D plt:saveflg( figures/'+dong name+'.png')

return iframe
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##pA# AT
= folium.Map(location=[37.498095, 127.057610], zoom start=12,
tiles='cartodbpositron')
choropleth =folium.GeoJson(data= geo_path, style function=style function, ) EH il 25
m.add_child(choropleth) o

for i in range(len(geo_str['features'])):
geometry = geo_str['features'][i][ 'geometry']

_ B (2 0 ] =% o.| A Of - A0
dong name = geo_str[' featuﬂrgs 1[i][ 'properties']['adm nm'] ° EHxlz o 'I‘{. é, I []H.E T.':TI: X-I 1 I‘l’ 2_|_':T|
get_info(dong name) #A/S5HHI SIAIS AIX{ O L
popup = folium.Popup('<div style="overflow: scroll; width: 100%; height: 500px; padding: 10px;">'+ _&_:m E (2021 — 7IF__)

'<h3>'+dong_name+'</h3><br>'+
'<h4>sbull; '+dong name+'S| FH AP OiF YE 1-"-._“-5.’—"‘_<u>'+str(high[dong name][0])+'</u>, 289 < ° [Hi|2§2| HI 'I oI'Tl DH% L1— E E’—Alx'l-?-x'l’
'<h4>sbull; '+dong name+'9| H[FH 319 OiE YE 1290 <u> +str(low[dong name][0])+',</u> 2&8/E <t =_—l1ecu

- AL L =
'<br><CENTER><img src="fiqures/pop_'+dong name+'.png", width=300><CENTER><br>'+ 2I‘?’ oy ogtkzlxl-'ﬂ-lxn'loull—l EI'_(2021 Lﬂ 7|E)
'<CENTER><img src="figures/df_ '+dong_name+'.png", width=300><CENTER><br>'+

'<img src="figures/'+dong_name+'.png", width=400>'+
'<div>"',width=500, height=2000)

60000

tooltip = folium.Tooltip(dong_nahe) W - i
state marker = folium.GeoJson(data=geo_str['features'][i][ 'geometry'], -_—
style function=lambda x:stylel, 50000 : ;g:igi:
highlight function = highlight_style) = 50-60c1
state_marker.add child(popup) U —

state_marker.add child(tooltip)

m.add_child(state_marker)
30000
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